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AB = V52 +42 = 41
BC 441
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SoSinA = — =
sin N Vil 1




sinA = % A o, cos AtanA ©] FH-& F-stodzt

8 8 15 7
® = @1—7 ® @ —
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sin A = ]
15 8
cosA—1—7, tanA_1—5
.'.cosAxtanA:Exizi

17 15 17
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o2 2-oA «C = 90°Y o,

sin A 4 cos A 9] ZF-&?

17 21 23
2l ab °
Yw 9%

B

W ~o--7

AC =172 —82 = 152

BC 8
nA=—>— = >
sin NIRRT
AC 15
A= 2
BETAB 17

23
g g A A = —
sin A 4 cos 17
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Atel TARRI EtHE
(sin) (cos) (tan)

52° 0,7880 0.6157 1.2799
i 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764

55° 0,8192 0.5736 1.4281
D 1.1932 @ 1.1933 @ 1.1934
@1.1935 ® 1.1936

B \

tan 54 ° = 1.3764
sin 53 ° = 0.7986
cos52° = 0.6157
. (F4]) = 1.3764 - 0.7986 + 0.6157 = 1.1935
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AB 9] 3f2? 15
A
@® 2 @ 4 3)6 @ 8 ® 10
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BC

SlnA = =
AC

o]B& AC xsin A = BC o]t}

| =~

:Ex%:lQ,A_C:w

et etAs Ao s AB = V152 - 122 = 9 o[t}
webA] AC-AB =15-9 = 6 o[t}




SinA = g A ], cosA + tanA 9] FH2? (F, 0°<A <90°)
5 12 23 31 39
D3 @5 95 Wy 9%

B

4 3 16+15 31
cosA+tanA=g+Z= T

20 20
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o2 ™ol A cosA =

ol

o]i’"
, AC 9] do]&?

AH=12, BH=4V3 ¥

AB 8vV3 V3
COSA=—=— = —

AC C 2
. AC=16

___B

,8/5 2
B

A& 0 \g
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2 gt ¥l Zdojrt 2 91 Y5
Aloltt. /CEG = x € W, sin x4+ cosx

---H

B

CE =23
EG =22
CG=20R2

2V3 _ VB4 VB 0y

sin x + cos x =

23 23
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e 1HE A x- VBy+3=0
o] Jejzo|c}, oluf, «9 ©] A7|E
TSHH?

©3O° @ 40° ® 45°

/ 0

@ 50°

® 60°

y= %gx—i- V3
7]%7]:‘/?5

(7]1€7]) = tan ©]BE tanf = \/?5,

s 20 =30°




12. #7447+ ABC 4] AB = 8em ,
BC = 4V3cm € o, /B ] 27]=7

D 15° 2)30° ® 45°
@ 60° ® 75°
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aB sin x cos T tan =

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1,0724

@e6s2 @697 @701 @ 7193 G 7314

sin 43° = 110 o]BE x = 10 X sin43° = 10 x 0.682 = 6.82
6.82




14. thg 294 BC o golg 7oty

B 30° 60°1-

®2vi ©@3v3 @43 @5v3 o3




15. o= 299 AsHA A /AGE = x =t D.--"4--. ¢
Do sinxxcosx & ZrS FSt AR | N
|
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I,_I’I ””” :E(’*tG
// ”4
E
10v2 202 203
@ 5Z/_ @ 4Z/_ ® 37
20vV2 20V3
@ 57 ® 57
EG =42
AE=5
AG = 57
ofetA
sin x X cos x = > x4\/§—20\/§0]t}
V67 AT 57 ’




16. sin(2x-10°) =

|
o

@® 15° @ 20° ® 25° @ 30° (3))35°

B

sin(2x — 10°) = ‘/75(0“’ < x <45°) oA
V3
2

sin 60° = ojB=2 2x - 10° = 60°

2x = 70°
Sox = 35°




17. o2 A2 28 21 cos25° +sin25° x sin 50 ° — tan 50° 2] 3
s A AR T2
ZiE sin cos tan
25° 0.42 0.90 0.46
50° 0,76 0,64 1.19
70° 0,93 0,34 2.74

® 0.06 @ 0.05 ® 0.04 @0.03 ® 0.02

D ~
cos 25 ° + sin 25 ° X sin 50 ° — tan 50 °

= 0.90 + 0.42 x 0.76 — 1.19

= 0.90 + 0.3192 - 1.19

= 0.0292

= 0.03




18. o5 F At A7t sin 3009 A g2 A2

@ cos60°

@ tan45° x sin 30°
@ % (cos 60° X tan 60°)

@ %(sin 30° + cos 60°)

® 2 x (sin 30° X cos 30° X tan 30°)

B

. o 1
@ sin 30 =5

1 11 V3
— @ P) = = — - — 0
2(00560 X tan 60°) 2><2X\/§ 4 Ich.




19. x o T oA A] 22 11x +a = 0 9] T 20| sin90° + cos0°
A o), a 9 kS FohE?

@ @ 13 ® 12 @ 11 ® 10

OIAA A 2% — 11x+a = 0ol x = 2 B HASHH, 222 -
11X2+a=0
8—22+a=0,a=14




(¢}

20. ¢t

oo

ZT2A L AL T 12HY?

@ sin45° = cos45° @cos48°>cos38°
@ tan35° < tan40® @ sin37° < cos37°
@sin56° < cosH6 °

B

@ cos48° < cos38°
@ tan35° < tan40°

@ sin37° < cos37°
® sin 56 ° > cos 56 °




